Maths for Wednesday 6th January 2021: calculating fractions of amounts
Watch the video before completing this work on paper.

Examples for how to calculate your answer to each question type:
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[bookmark: _GoBack]Questions (Start at section A and move to sections B then C after marking your work – the answer sheet will be uploaded on the class web page. Write the questions out as well as your working out and answers.)
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@ Asif has read 56
pages of his book.
This is one third of
the book. How: many
pages does it have
altogether?

@ Colleen has painted
4-:8m of a fence. This
is one sixth of the
fence’s length. How
long is the fence?
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Four ninths of the
Visitors to a museum
are children. 348
children visited the
museum. How many

People visited the
museum?

@ Three eighths of a
cake has been eaten.
375 g is left. What
Wwas the weight of the
Whole cake?





